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The question paper comprises two Sections, A and B. You are to attempt
both the sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be
attempted separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to
be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are
to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These
are to be answered in about 50 words each.
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in Section A are jive-marks questions. These
are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.

"I A
SECTION A

39 T 2ot W fgdie o gdte sew 1 oTiftas ¥ fofew et wem
e 4T 7 |

Write the molecular formula of the 2" and the 3" member of the
homologous series whose first member is methane.

e IS HITRTeRT T9 B! 8, d9 35 DNA hl &1 BIdT & ?
When a cell reproduces, what happens to its DNA ?

et @@ sj@ar 3, W Hl 100 J Hell 399 7 | Iedieeh & W foha
Sl 3uerey off ?
iy > et > IR

In the following food chain, 100 J of energy is available to the lion. How
much energy was available to the producer ?

Plants —— Deer —— Lion

13 ford 15 cm ®IhE gl & 3addl ©" & 30 cm g0 W fed 2 | of@ g0 o
gidlers o =R e (Yepfd, feufd, o7fe) i = s |
An object is placed at a distance of 30 cm from a concave lens of focal

length 15 cm. List four characteristics (nature, position, etc.) of the image
formed by the lens.

(i) a1, WE (i) I=I-Sfie o EE o o oy forfeaw |

State two advantages of conserving (i) forests, and (ii) wild-life.
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Explain two main advantages associated with water harvesting at the
community level.
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TYHe 1 TS fafew | @ gaT @ 9 3§ "ig H,S0, % Ay o
443 K R T fopam Srar g 2 Afufshan o1 adfiehtor faRaw qen s& e1fufsean #
g H,S0, i ffisht 1 3g@ iy |

Write the structural formula of ethanol. What happens when it is heated
with excess of conc. H,SO, at 443 K ? Write the chemical equation for the
reaction stating the role of conc. H,SO, in this reaction.

Jh o fau tEEfe afiemr f ggEar O Tt i |
arfafspaneti & #ffw fave e | () weedi, 3. (i) Tt ufshan
Teh-Ush 39T faAfau |

Distinguish between esterification and saponification reactions with the
help of the chemical equations for each. State one use of each (i) esters,
and (ii) saponification process.

MYk e RO H 3TEdl 3TR HHgl hl §&A fafey | (i) foreft stmad 7 &8
3R ¥ R IR TH W, 941 (i) forelt T8 § $W & Fi9 9IH | T & aifcash
AT H ford TR TiE Blal 8 ? 19 I <hl ol Afgd gfse HifvT |
Write the number of periods and groups in the Modern Periodic Table.
How does the metallic character of elements vary on moving (i) from left
to right in a period, and (ii) down a group ? Give reason to justify your
answer.

Na, Mg 3R Al 3gfs 37ad areft & el oTad & o & Siehl T Te
HOM: 1,23 137 | 390 U fha a@@ i (a) TNl fHaH, (b) T
forsen sAfesham, qem () TEEHS Afufhamiiciar sifuehad 8 2 J&® o g
319 IR I HROT Figd e HIT |

Na, Mg and Al are the elements of the grd period of the Modern Periodic
Table having group number 1, 2 and 13 respectively. Which one of these
elements has the (a) highest valency, (b) largest atomic radius,
and (c) maximum chemical reactivity ? Justify your answer stating the
reason for each.
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Reproduction is one of the most important characteristics of living beings.

Give three reasons in support of the statement.

12. TRk YaeA 1 2 2 39 fofe o Q1 aw 3R & gl fafe | 3

What is vegetative propagation ? State two advantages and two

disadvantages of this method.

13. THYRY HI Tohd o 9T foskfed s 15 @ deRdiepl hl gt sHST | 390 &
ShI9-Et Tehrileh JENI o ToTT &l 8 ? S Aehriiehl o1 SUANT fohg bR forefl ai@m
o T IR Tgig I €Y yifad =t g ? 3

List three techniques that have been developed to prevent pregnancy.

Which one of these techniques is not meant for males ? How does the use
of these techniques have a direct impact on the health and prosperity of a

family ?

14. Ted 4 I8 fh0 yor wuse fopan T wig @va 2 fob @IE @eror Gy & e
gt fopelt Sfia & =ara 9 g1 9T ? 3

How did Mendel explain that it is possible that a trait is inherited but not

expressed in an organism ?

15. “Sta-fowE qon S|l 1 aifiehtul TR HEad 3 |7 39 e hl HRU Higd
gfee Hifor | 3
“Evolution and classification of organisms are interlinked.” Give reasons

to justify this statement.

16. e g oiw e Ty feora fonelt fomar <t fopeht oft fearfa & forw wRa & dfen
3R Blel Ufdfena ST 7, 1 39 F shl Thid T g ? 379 IR ki gfse fopom
I Eiwert HIfST | Ife 39 <8 i auar 1 T&denss A1 10 D 8, df i
TUTTEAT o STER $Eeh! BIhH Gl T 2 2 3
If the image formed by a lens for all positions of an object placed in front
of it is always erect and diminished, what is the nature of this lens ?
Draw a ray diagram to justify your answer. If the numerical value of the
power of this lens is 10 D, what is its focal length in the Cartesian

system ?
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i o fopell fS5H g 3o STl o 9&iq0 1 SR0T fTRaT | =g o i & a

Tdun 5wl g wg fhe wohr gt T v ehrer @ aont W1 S @ 2 TR
A Ei=eht 3T o S g HhIv Tad TohRT 4o Uh-ghl § Io¢ qafed
i o 2 gaay sH & g3ieH % 999 S50 % Tk Boe W fadehd: 9
AT 7, 1 39 TASH T 39 YT T A7 BT 3 2

State the cause of dispersion of white light by a glass prism. How did

Newton, using two identical glass prisms, show that white light is made
of seven colours ? Draw a ray diagram to show the path of a narrow beam
of white light, through a combination of two identical prisms arranged
together in inverted position with respect to each other, when it is
allowed to fall obliquely on one of the faces of the first prism of the

combination.

(a) A Th A< HEEYUl UTh{deh HEET g, Sl Siiad & ¢ 37d & |
3yeh T o freres a8 =Med & Toh 3119 AT qoaieh fsharehard o
for,  “smomum Tepfaeh HEAT — ST b1 HE S fowE W R A
TATET | 5T 1 Sy S=10 & IR H 3794 YSIE H SATEshdl 3cae i o
foTT =18 g 3™ gEmsT |

(b)  TorHll T U T TM R IFHI AT HIGY S8 gy Musia & i
IR = iR & Temr 1 T |

(a)  Water is an elixir of life, a very important natural resource. Your
Science teacher wants you to prepare a plan for a formative
assessment activity, “How to save water, the vital natural
resource”. Write any two ways that you will suggest to bring

awareness in your neighbourhood, on ‘how to save water’.

(b) Name and explain any one way by which the underground water

table does not go down further.
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THSTAE AR o1 g ¥ faRaw aen s 2ot & Yo dee 6l wE ot

difeu | WehH &l Uoohd H gfafda s il Affsean o1 9m fafge sk
TS HIHT g/ 38 ARt o B9 o oy fewes gifeafae =i «ff
I 5

Why are certain compounds called hydrocarbons ? Write the general
formula for homologous series of alkanes, alkenes and alkynes and also
draw the structure of the first member of each series. Write the name of
the reaction that converts alkenes into alkanes and also write a chemical
equation to show the necessary conditions for the reaction to occur.

20. (a) T HEI 4 9F & (ARG Tcdsh I o 1T bl IgE I

1) USRI
(i) TR
(iii) AR Z=[d
(b) UM ST H TAB=CT shl FL=AT 3T Sl 1 3gQ@ HiT | 5

(a)  Write the functions of each of the following parts in a human
female reproductive system :

1) Ovary
(i1) Uterus
(iii) Fallopian tube

(b)  Write the structure and functions of placenta in a human female.

21. TAH I Th-Uh IGTE0T ¢ohl IUTRSId TAAVN 3T TGS &1l o s fasied
SHifSTe | forell =afte gRI 319 TVqUl SfieH-h1dl # 3T A&Iv)/TgHE 3Tt digt
H FETETA 1 T8l B ? 39 A2 Sl HRUT ISR ¢ohl TS ST | 5
With the help of one example for each, distinguish between the acquired

traits and the inherited traits. Why are the traits/experiences acquired
during the entire lifetime of an individual not inherited in the next

generation ? Explain the reason of this fact with an example.
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ﬁw@(u)%wgqﬁﬁwaﬁ(v)wwm T g, IR T+

giere fort & F=ferfad gt o s &S

& u (cm) v (cm)
1 - 100 + 25
2 - 60 + 30
3 - 40 + 40
4 -30 + 60
5 - 25 + 100
6 -15 + 120

(a)

ITA E I BlhE g FAT 2 ? 319 I o1 G < g wrer i |

(b) 38 Yeqor <ht 0 T foafae st w78 7 | 98 fsed omoa fopw ammam
o fehret 8 2

(c) Torelt 3fu@ Yum w1 FAR W F&AT 2 o VAW % fau oo am@
iU | STaeds o1 T 7 ;{d it |

Analyse the following observation table showing variation of

image-distance (v) with object-distance (u) in case of a convex lens and
answer the questions that follow without doing any calculations :

(a)

(b)

(c)

Object-Distance | Image-Distance
S.No.

u (cm) v (cm)
1 - 100 + 25
2 - 60 + 30
3 — 40 + 40
4 - 30 + 60
5 - 25 + 100
6 - 15 + 120

What is the focal length of the convex lens ? Give reason to justify
your answer.

Write the serial number of the observation which is not correct. On
what basis have you arrived at this conclusion ?

Select an appropriate scale and draw a ray diagram for the
observation at S.No.2. Also find the approximate value of
magnification.
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2. (1) feh Qg sas i o e o RS e % e i

& Bier, Har IR HE Afdfers s9ar 8, A1 39 UVl I Yehid foTiay
I 39 I H e o forg femor @ off i | 38 gehr % gdunt
&1 T 3T fIRgu qom seh1 SUANT b TR ST B, SHe 3g@

HINT |
(b) AT U hi dshar B ki gt foiRge | fee el edur i
TRl I BIehE gl 1 HiTg, TFEeh! ashl BT + 24 cm B | 5

(a) If the image formed by a mirror for all positions of the object
placed in front of it is always diminished, erect and virtual, state
the type of the mirror and also draw a ray diagram to justify your
answer. Write one use such mirrors are put to and why.

(b)  Define the radius of curvature of spherical mirrors. Find the
nature and focal length of a spherical mirror whose radius of
curvature is + 24 cm.

24. (a) THeregfe Qv & difed 1S B 5 m | 31fers gt W oo fowal ol wse
€ T@ Uil | 39 §f¥ G % 37U T o o |WIdd HRUN i g
TS | foRtur TRl <l WERIT | SARE it fh
) @8 ®F 5 m ¥ AH g W Ea forai =1 we &1 A8 <@
qrdr |

(i) 39 ¢SS QY o TRME & [olC, 38 TohE TR & T T ITAN ST
IIET 3 38 @H o STATT gRT 39 <Y okl GeNed fohd TR Bial
7 |
(b) afe, 39 THW H, HRAYH H h Bk gl I T&ACHS HH 5 m 7, al
Ff Sty fog afardl & a8 of| 6 aHar I1d i | 5

(a) A student suffering from myopia is not able to see distinctly the
objects placed beyond 5 m. List two possible reasons due to which
this defect of vision may have arisen. With the help of ray
diagrams, explain

1) why the student is unable to see distinctly the objects placed
beyond 5 m from his eyes.

(i1)  the type of the corrective lens used to restore proper vision
and how this defect is corrected by the use of this lens.

(b) If, in this case, the numerical value of the focal length of the
corrective lens is 5 m, find the power of the lens as per the new
Cartesian sign convention.
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SECTION B

Se 39 Teh W@ H AIfeqd Fgehaiqe 1 U ookl 380 UHI[dh 370 ohl
$S F¢ SO &, Al ARG § § HIH-AT J&07 FLd & ?

(A) I3 IAMTRAT &1 Bl

(B) Gl g aTeht TTEH 19 &1 gl Jeearee o any fomed
(C) fid gegeree o | L T I A9 w1 fom=a

(D) TN 3R TgEH 19 o FeAAl T ST

When you add a few drops of acetic acid to a test-tube containing sodium
bicarbonate powder, which one of the following is your observation ?

(A) No reaction takes place

(B) A colourless gas with pungent smell is released with brisk
effervescence

(C) A brown coloured gas is released with brisk effervescence

(D)  Formation of bubbles of a colourless and odourless gas

TR TR 1 S1ETo hid T A9 it § 919 gHe A o fened)
TTEH aeafd 9 § NaOH &l 20% Sieiid faorm fiema 8, a &1 Jeqor s
g7

(A)  Taeor 1 T TET ST B R B

(B) ofe # fiet gegaree & W 2

(C) iRt 1 aed I8 T B T R

(D) et T STELl I8 381 &1 T @

While studying the saponification reaction, what do you observe when
you mix an equal amount of colourless vegetable oil and 20% aqueous
solution of NaOH in a beaker ?

(A)  The colour of the mixture has become dark brown
(B) A brisk effervescence is taking place in the beaker
(C) The outer surface of the beaker has become hot

(D) The outer surface of the beaker has become cold
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% & T 3IUcey g & | JANRCT § S d€U &, Sl Agd I ° "o |3
FHIX A 41 Fohdl & | @01 & Fefifad wgi o @ a8 wug giiw s g
AU I A IA H = A W I HSW I &1 ¢ | 1
(A) Hifsan FAgS, TISREH FEs

(B) wifesm Hethe, diRrm Tethe

(C) wifesm Hethe, hicHan Hethe

(D) hfcoaw Tethe, hicdam FANES

A student requires hard water for an experiment in his laboratory which
is not available in the neighbouring area. In the laboratory there are
some salts, which when dissolved in distilled water can convert it into
hard water. Select from the following groups of salts, a group, each salt of
which when dissolved in distilled water will make it hard.

(A)  Sodium chloride, Potassium chloride
(B)  Sodium sulphate, Potassium sulphate
(C)  Sodium sulphate, Calcium sulphate
(D) Calcium sulphate, Calcium chloride

28. feaorwelt e o yo1 o fafiE 9WTl ol 9g=EE 1 S S % Tl gayed
3Rl s fesorsft s =nfeu | ffefea @g 9 & fgefiewsht i g .

g, =1, Heehl, WY, Sil, HIha! 1
(A) TF, T IR AKX
(B) =M1, WX 3R bl
(C)  HhT, T 3 St
(D) =T, HehT 3T Tohei!
To perform an experiment to identify the different parts of an embryo of a

dicot seed, first of all you require a dicot seed. Select dicot seeds from the
following group :

Wheat, Gram, Maize, Pea, Barley, Ground-nut

(A)  Wheat, Gram and Pea

(B)  Gram, Pea and Ground-nut
(C) Maize, Pea and Barley

(D)  Gram, Maize and Ground-nut
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3T, AT, Hel, ST, TSR, TAlehl

Y W $H-H 2 Biewal THAT TS 1 &l (%90 il 8 2

(A) TSR 3R THTR

(B) 3T 3R &
(C) Tl 3R MR
(D) et AR ALhI

The following vegetables are kept in a basket :

Potato, Tomato, Radish, Brinjal, Carrot, Bottle-gourd
Which two of these vegetables correctly represent the homologous
structures ?

(A) Carrot and Tomato
(B) Potato and Brinjal
(C)  Radish and Carrot
(D) Radish and Bottle-gourd

feu U foptur oM@ &1 31eeH hifve iR f=fiifad & @ 9t saa gihv

<

J

«——20 cm qlal
«——25 ecm—

(A) g X Hadd U0 2 IR Ik Y IqA o9 &, [Seh! Bishd gHAT SHA:
20cm 3 25cm 7 |

(B) I X 3T o9 & 3R Ik Y oraadt givr 7, Foeht wishe it s
10 cm 3 25cm & |

(©) I X I19da o9 2 3R Ik Y 39 v 2, et wia it show:
20 cm 3R 25 cm 7 |

(D) I X 390 8 & 3N Ik Y 39 ouw 2, feht wiva gt seawr:
20cm3ﬁ'{25cm§|
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Study the given ray diagrams and select the correct statement from the
following :

%}"

«— 920 cm Screen

1

17 77

Screen
«——25 cm—

(A) Device X is a concave mirror and device Y is a convex lens, whose
focal lengths are 20 cm and 25 cm respectively.

(B) Device X is a convex lens and device Y is a concave mirror, whose
focal lengths are 10 cm and 25 cm respectively.

(C) Device X is a concave lens and device Y is a convex mirror, whose
focal lengths are 20 cm and 25 cm respectively.

(D) Device X is a convex lens and device Y is a concave mirror, whose
focal lengths are 20 cm and 25 cm respectively.

s BF IqA ¥ g Thd g fore 1 e Nffers T W JTed hidl g |

e T TS Fiefores ITed i o [0 38 241 bl Ra@es = gim 1
(A) WEHF
(B) WRg i 3N

(C) foreft Tt feufa o i e & TR T B
(D) 1 Al W ol AR A TS ¥ g, g fora oy fearfa o frvfe ot 2

A student obtains a blurred image of a distant object on a screen using a
convex lens. To obtain a distinct image on the screen he should move the
lens

(A) away from the screen
(B) towards the screen
(C)  to a position very far away from the screen

(D) either towards or away from the screen depending upon the
position of the object
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¥ B T gBBgS;gguestio%Bgznk; %[%are R S
AT | oA FTell JehTer Rt @1 99 STRREd T 7 | TR 98 3TdaH hivl
Jdeh UM o AU 3Tade i (£ r) 3T Tl I (£ ) & Td 91 <l |9
2 | 3 v <hl A9 T favdwor shieh 39 &1 fsepy fepter =mfgu 2

A Zi>Zr>ZLe

B) ZLi=ZLe>Zr

(C) Zi<Zr<Ze

(D) ZLi=Le<ZLr

A student very cautiously traces the path of a ray through a glass slab for
different values of the angle of incidence (£ i). He then measures the
corresponding values of the angle of refraction (£ r) and the angle of
emergence (£ e) for every value of the angle of incidence. On analysing
these measurements of angles, his conclusion would be

(A Zi>Zr>ZLe
(B) ZLi=Ze>Zr
(C) Zi<Zr<ZLe
(D) ZLi=Ze<Zr

Fr=afafaa forror M@ =1 31egeE il

~ o 7

34 M@ H 3UaH i, fHria s R faaes 1o =61 swuen: foees g fefua
IERIRIE I

A y,p z
B) x,q,z
© p,y,z
D) p,zvy
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Study the following ray diagram :

In this diagram, the angle of incidence, the angle of emergence and the

angle of deviation respectively have been represented by

(A y,p,z
B) x,q,z
C py,z
(D) p,zYy

TR B HEH 9 o (O Aavdeh "Mt (THRS ugie) a1 3g@
Hife | argfeRtr artufshar o sfufshan fsmr i wepfa (eTeia/aiE) i
Fuffa o0 aren wiewr 3y fhm g i 2 989 d quiH i | 2

Mention the essential material (chemicals) to prepare soap in the
laboratory. Describe in brief the test of determining the nature
(acidic/alkaline) of the reaction mixture of saponification reaction.

anfian # fg@ued &t ufshan &1 (IR =AON gHT) SHHAR 3T Wige guIisy | 2

Draw in sequence (showing the four stages), the process of binary fission
in Amoeba.

QB365-QuestionsBank Software P.T.O.




36.

31/1

B365-Question Bank Softwar

%13 B 10 cm 3T AH bl T 2 m g W
T AmeRt 6 STl I WS W BT AT B | 39 UvEq 98 SaTell
- ofg <t AR Rggepmar 3 MR & IR 3ok Ufdfews I W T HIhiaa
AT 3 |

(A)

(B)
(&)
(D)

P& W SITAT hl BlehiHd i o U 30 o9 &1 forg fosm o fggespmn
I @ ?

& W & STl o JTdiees o HT39 H o971 A=l Bidl & ?
T W & ST o Yfcfera 1 digar (Imes) 0 1 A= fe@mg <an 2 2

S ST F % Sgd U (ST 5 cm g W) B R, A W W HA
fe@s gar = 2

A student focuses the image of a candle flame, placed at about 2 m from a

convex lens of focal length 10 cm, on a screen. After that he moves

gradually the flame towards the lens and each time focuses its image on

the screen.

(A)  In which direction does he move the lens to focus the flame on the
screen ?

(B) What happens to the size of the image of the flame formed on the
screen ?

(C)  What difference is seen in the intensity (brightness) of the image of
the flame on the screen ?

(D) What is seen on the screen when the flame is very close (at about

5 cm) to the lens ?
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Summative Assessment Il (March- 2017)
Marking Scheme

Class X — Outside Delhi

Code No. 31/1

Expected Answer / Value point

Distribution

Q. No. Section - A of marks | Marks
1. C2Hs , CsHs VRN 1
2. Creation of DNA copy / Replication / Copying of DNA 1 1
3. 1000000 J 1 1
4. e Virtual

e Erect
e Diminished 72X 4 2
¢ On the same side as the object / or any other characteristic
S. e Conserving forests helps in (i) retaining sub soil water and
(i) checking floods / any other 2 x4 2
e Conserving wild life helps in (i) maintaining ecological balance
and (ii) protecting the nature (or any other)
6. e Water stored during rainy season can be used as and when
required by the community.
e Ground water level increases due to recharging. 1+1
2
£ H H
. 1
H— c|: — c|:— OH
H H Z
Ethene is produced 1
Conc. H,SO
CH3CH20H e » CzHs + H20 3
443K ”
Conc. H2S04 acts as a dehydrating agent.
8. Esterification — A process in which an alcohol and a carboxylic acid

react in the presence of conc. H2SO4 to form an ester.

CH3sCOOH + CoHsOH ——<one. HaS04 » CHsCOOC2Hs + H20

V2

Va
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Saponification — A process in which an ester reacts with sodium
hydroxide to form sodium salt of an acid and alcohol / an ester
reacts in the presence of an acid or a base to give back the
alcohol and carboxylic acid.

CHsCOOC2Hs + NaOH— C2Hs0H + CH3COONa

Esters are used in ice creams / perfumes
Saponification process is used in preparation of soap.

Va

Va

V2
V2

Periods — 7, Groups — 18

Metallic character decreases along the period because
effective nuclear charge increases on the valence electrons
hence decrease in tendency to lose electrons.

Metallic character increases down a group because effective
nuclear charge experienced by valence electrons decrease,
hence tendency to lose electron decreases.

Y2+ V2

2+ V2

Y2+ V2

10.

Aluminium (Al)
Reason — Valency of Na is 1, Mg is 2, Al is 3

Sodium (Na)

Reason — As we move from left to right in a period, the atomic
radius decreases / increase in nuclear charge pulls the
electrons closer to the nucleus reducing the atomic size.

Sodium (Na)
Reason — Reactivity decreases on moving from left to right in a
period / any other reason

Va
V2

V2
Vo

V2
Vo

11.

For continuation of species / perpetuation of species

It promotes diversity of characters / helps to show the variations
which enhances the survival chances.

Increases population of a species / any other answer

12.

Vegetative propagation — A process in which any vegetative
part of a plant (root, stem or leaf) gives rise to a new plant
under appropriate conditions.

Two advantages :- (i) Large number of plants obtained in a
short interval. (ii) Propagation of seedless plants is made
possible / any other advantage.

Two disadvantages :- (i) No genetic variations, so, less
adaptability to the environment. (ii) The disease of plants gets
transferred to the offsprings.

V2
Vo

Vo
Va

13.

Three techniques — Barrier method, chemical method, surgical
method

Chemical method

It maintains health of the woman, parents can provide more
attention to children / more resources are available to the family
/ any other.

Yax3

Vo

Y2x2
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14.

Note:- If explained with flow chart with proper description, full marks
be awarded.

In Mendel’s experiment, when pure tall pea plants were crossed
with pure dwarf pea plants, only tall pea plants were obtained in
F1 generation.

On selfing the pea plants of F1 generation both tall and dwarf
pea plants were obtained in F2 generation.

Reappearance of the dwarf pea plants in F2 generation proves
that the dwarf trait was inherited but not expressed in F1
generation.

15.

Different life forms have evolved during the course of evolution.
Classification deals with the grouping of these life forms into
groups and sub groups based on similarities and differences.
The more characteristics any two species have in common,
more closely they are related.

Thus classification helps in tracing the evolutionary relationship
between the two organisms. Hence, evolution and classification
are interlinked.

16.

Concave / diverging lens. V2

Direction of rays Ve
pol v
P
P=-10D,
1 ,
f=——=-01m/-10cm Z
-10D
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17. Different colours of light bend through different angles with
respect to the incident ray / different speed of different 1
colours of light in glass / different values of refractive index
of glass for different colours of light.
Screen
1
1 1
Direction of ray & labelling 72t Ve
18. a) Two ways of creating awareness
e Door to door campaigning 1+1
e Nukkad natak / any other method.
b) Rain water harvesting with explanation / preventing over
extraction of underground water / any other method V2t 2
19. e Compounds of hydrogen and carbon Y5
e Alkanes — CnHan+2 V2
e Alkenes — CnHz2n Yz
e Alkynes — CnHzn-2 72
[}
H H H
| | | Y2 x3
H—(f— H H—C=Cc—H,6, H—C=C—H
H
e Addition reaction / hydrogenation iz
R R
R\ — R Ni /Pd catalyst , ,
C=C<__ W *H—C—C—H 1
R R |
R R
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(a) Functions :
(I) Ovary:-
(i) Production of female hormones / estrogen /
progesterone 2+ 2
(ii) Production of female gamete/egg/ germ cells

e (Il) Uterus:-
(i) Implantation of zygote / embryo
(i) Nourishment of developing embryo 2+ 2

e (Ill) Fallopian tube :-
(i) Transfer of female gamete from the ovary
(ii) Site of fertilisation ot

(b) Structure of placenta :- It is a special disc like tissue
embedded in mother’s uterine wall and connected to the 1
foetus / embryo.

Functions of placenta :- It provides a large surface area for
glucose and oxygen / nutrients to pass from mother’s body
to the developing / developed embryo / foetus and also 1
helps in passing the waste from the foetus / embryo to the
mother’s body.

e Acquired traits — Traits which develop in the life time of 1
an individual and do not pass to the progeny.
Example- Learning a skill such as dance / music / loss V2
of body parts / weight / any other example.

¢ Inherited traits — Traits present in the gamete /. germ 1
cells which can be seen in the progeny.
Example — Skin colour / eyebrows / any other example. Va

e Reasons — Traits / characteristics acquired during one’s
life time do not bring any change in the DNA of the 1
reproducing cells / germ cells.

Examples - Decrease in body weight of beetles due to
starvation do not pass on to the next generation 1
because there is no change in the germ cells of beetles.
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22.

a)f=20cm
Sl. No. 3, Since u=-40 cm and v= +40 cm, it may be
concluded that object is at 2F

b) SI. No. 6

When u= -15 cm, the object is between optical centre and
principal focus. So image is virtual and it forms on the same
side as the object. Hence, v should be —ve, but here it is +ve
(+120 cm)

c) f‘ >
F B 2F
B 2F
<+— 60 cm

Direction of rays

30 cm 1

v
Magnification ,m = — = =-05/-—=
u 2

V2

V2

V2

V2
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23.

a) Convex / diverging mirror)

Direction of rays
Use:- As a rear view mirror / any other use
Reason :- Always give erect and diminished image / Large

field of view

(b) The radius of the sphere of which the mirror forms a part
| The distance between pole and center of curvature of
a mirror.

Nature of the mirror — convex / diverging mirror

R=2f=24 cm
L f=+12cm

V2

V2
V2

Va

Va

i

V2
i
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24, a)
e excessive curvature of the eye lens %
e elongation of the eyeball A

i)

Paraltel rays Iroa Estant
objoct {at infindy) ]
ii) Concave / diverging lens A
: Rays aro first
diverged by
: , L Ratina
BrmessBiiii o Foaos'ts
. S mod on
o s )
Concave lans 1o y w B
o F comact myopla | -
b) f =—5 m (since lens is concave) V2
1 V2
- f(metre) ;

P=—02D 72
25. D 1
26. C 1
27. D 1
28. B 1
29. C 1
30. D 1
31. D 1
32. B 1
33. C 1
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34. e Vegetable oil / fat and sodium hydroxide 1
e Red litmus paper turns blue. 1
35. ~ & Y x4
LN LSRG
™
S
36. a) Note: For part (a) ¥2 mark to be awarded to every Y2
student
b) Size of the image increases V2
c) Intensity / brightness of the image decreases iz
d) No distinct image is formed. Only a patch of light is V2
seen.

Outside Delhi -31/1
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=i 31/1

T3 g&

T&ifad S / Hedie fog

T - 3T

C,H,; C,H,
DNA gfdefcr @1 ot/ gfdefcr a9,/ DNA &1 gfcefa a9

1000000 J 4T 1000000 viel

o JMHRAT
o rEm
o IMHR H BT
 greg gRafd

(1) STgqaT ST BT o /I H AR

(2) qrel BT R B H FERIG BIdl § AT 3 Blg
o T SIIT BT GREVT GeIH BT 8

(1) aRRefrd Age™ 9IY @ H 3R

(2) ygfa B AT /FATQ @ H AT 3 Bl

* quf 3Rq D FHI Sicl Bl HUSRUT B S YR Bl
JMMATIGHARA DI Gfdl @ foly FHI—aHI_ 0 SUIRT fhar
ST AT |

o ST—HUEY W ATl WN Sl el oidl ¢ |

N
H—(|3 — (|3—0H

H H
o Ui &7 ST BT © |

@iz H,SO,
* CH,CH,0H — ——> CH,+H,0

e Wig H,S0, foteliar® @l Hifa &Rl & 2|

a2 1

4X%| 2

4X%| 2

V2

2 3
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@ 31/1
e we Eifad IR / Jedied fog 3iH AT
8. o TGN : I8 UlHAT &, NTAH BIg Yedhiaial [hAl draifadiold
3F @ A1 Wi H,50, 1 SuRefd #  ififear axa oI
TR g1 2 | 7
« CH,COOH+C,H,0H 159 ¢y cO0C,H.+H,0 A
* WX : 98 UfBAT &, RTaH DS Tex AIfSTH BRgiass
I TfAfEaT HYd B 3%t BT 1T 3R Uchlglel d-1ar 21/
DIg TR [H¥l 3Tl IfqdT &R &1 SuRefa # ififear axa
U Ueblalel 3R Hraifdafold el a1 o | Y
« CH,COOHC,H,+NaOH — 5 C,H;OH+CH,COONa | %
* UIRT BT AN : MBI /IR e H B & | V2
o AGAIBRYT YfBAT BT IUART HGH 941 4§ fHAT S 2 | ) 3
0. e 3Tad — 7 ; HHE (JU) — 18 Yo, Va
o ATEd B AR g AR A I8 R S W gifcaes SAefor gedl
2, JIf A Selag™l U gaTd MA@ maer # gfg g
SRl 2, Fay dcdl 1 geldg™ AN @l Ydicd wedl Sl & | Yo, %
o TE H W W A I W eifcad Fgvr gedr g wifd Aol
SAIde 1 UR BRIRG THTET AMAGII AT Tl SIal & | FATSTdhd
Solag [ AIf® ¥ §X B OIl &, 3k ol T &l ygfcd
gedl ol 2 | Vo, Yol 3
10. | « vgfafrm (Al) V2
&R : Na @ Farstsar 1 Mg @t 2 3k Al @F 3 2| Y
 aifeam (Na) Y
PHROT : foordT 3mmact # 9T1E IR 9 T8 IR 99 § dcal &
URATLSH DI AT gedl & | ATWG H SMaer bl GwAn d
gfg BN | UB SelagiAl Bl AMAD B AR MBI BT 2 |
ST SR URATY] HT A1gSl "edl Sl o | Va
o difsaw (Na) Y
PHROT : T | 913 MR A T13 MR I H dadi &I fpareiierdn
¥ gfg BRI © | AT 3T Pl BRI | Y 3
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=rs 31/1
e HeA T I / HoaishA foig ®w | A
11. | » NS &7 9910 @41/ RN BT RIS o 1
o g8 Jgon # fafdedr &1 qerar <a1 2| fAf=ar <oie & wermar | ]
Bl B ORI SRoNfadT & AT §&d & |
o WG &1 FAfte 9 gfg F_ar 21 DI 3 I« 1 3
12. | » &% yaeid : 98 U ufdar © R o & 8 91T ol
e O regaT gfcqai Sugad yRRefrl # fdefa giax -y Y
e IO B & | Y
e T M : (1) &9 F9g H 2% e U By S Had & | Vs
(ii) 9ro7 T AT IIET FHG B | BT PIS. o Y
o a1 Bl (1) @IS Sgafe fAf=ar g, ofc: wafarer §
TRl H HHl Ya
(i) diei @ 97 Hafa digl 3 sxdidRa 8Lomd 2 | Y 3
13. | o 9 doie R fafdy, samafee oy, sreg fan 3X %
o YIRS A Y
o EA BT WRY AT &A1 7, AIA—{UAr g2l W e e
FHd T, GRAR BT 3D FARA ST & Ihd 2| @ dig) | 2X Y% | 3
14. | » ¥4sd & UART 4 &9 Y& o A & UMl & Yg dH AR B
gl & A1 WHR0l HT A7 @ F, 4idl § dad R 7SR &
arer & U< g | 1
o F, fidt @ Uil &I T@WRET0T a’= R Ui F, 9 # @9 3iR
9 ‘M UBR & B U U 8 | 1
o F, &1 & Oieif % 99 9t &7 g udhe BT a8 Rig dwar ®
f dvoe &1 deror F, did | G O g3l o, WRe] Udhe
(cgaT) =Tl BT U | 1 3
(Are Ife 39 U39 &1 ScR Sfad 9vie Afed a8 8IRG g
= a7 8, 1 S R 3w faw o )

4
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=i 31/1

T3 g&

T&ifad S / Hedie fog

15.

16.

17.

o 9 fder @1 ufear #§ A= Siiaq wed fdsRd gy |
RO @ ST g1 Silg- WwUl BT FHSIHRYT, Fal 3R
SUGHE! H, IH FHHansi iR fafr=arei (Aywarst) &
MR R o ST 2|

o 31 WEfT # Riaq e1ftre srficteror Swafss (F9H) 91T ST
g, I B Af8d I U gEX W Heed Bl g |

o 3 YHR IIIDHRIT &I Siidi & 91 fAerig Gaeni &l @i #
TETIAT HRAT © | 31, Sid fara 3R Tffdror IRER Haferd

BT 2 |
AT oI / ITINT o

fopxoT @y feem

1
p
-1

f
P D,
f

—_ O

10D =-0.1m/-10cm

o

T UBIT & I 90 B & U | oA IR 3MUfrd Yaprer
& e A= DIv R gbd € | Fia H QAR arer 891/ gepbre
& faf=t quit & e & forg @i &1 A= sruad=ie g |

2

V2

V2
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e 31/1
T G Cc I
1
fopxoTt @Y feem ud AT | Yetls | 3
18. a) SITHedl I~ dY- & 4l SUi:
o ER—ER SITHR JAMIT AT 1
o JaBHS ATCH DI/ AN = Blg YU 1
b) STA—HUTY & ARAT /AT STl & Qled] DI AT/
= g fafy CARCHEE
19. a) ¢ HEd AR S & AIfTH Vs
¢ W CnH2n+2 1/2
e Uehid CH,, s
* Tedprizd CH,, 72
) o
H—?—H H—C=C—H  H—C=C—H 72%3
H
i
R /RNi/PdB?QW 1% 5
— H—C—C—H 2
R ONRTT ]
R R
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=i 31/1

T3 g&

T&ifad S / Hedie fog

20.

21.

(a) * TSR B T
ATET BN /Mg Io &1 famfor
3vE fqHRId HAT

o THI™ & B
e 3rve &t T
[EEANEENEIRIEE
o IUSANEDI / BAfIIT AfdadT & s
USHIRIDT  (HIGT F7Hd) BT AR T ITTIRT
BRER IR

(b) wH~=I P |XEAT:
T8 TP AT UBR BT TLRIGAT WAL & Il THIRR B
faifca o o=fl 8l & o Yo 9§ ST Bk ¢ |
<l & $i :
A & WRER F YT DI TefbIol AT RIS /UIYoT YT B
@ folU U g8 &3 Uar HRA1/ il & IR fdaRia
BT 0T BT U7 Ul M YOI & SURIE] ST 7 & IRKR
H IFIIRG B |

SuTfoid_ & -

qE ATV NI A Sia-dlel H fol afte, g7 S1id fhy o €
UR=] Tl UIe! § I el i |

JETERT : PTG S < /I / AR H HHT /[T B &fel

15 G 184 G O £

BT /S DIRTBIS H IURT el S FTeAl Uit H

AT B & R e < 2|

SCIERT : FHS! BT auf /95 BT T () /3 BIS S8R0
PRI :

IR ST § S1fSid d1eror DNA 312rdm 5= BhIf¥Thai § aig
IR SO 8] PR B |

JGIEXOT : IV BT HH & BRI G & R H HH/IRR S el
AT & Pe O 3N & BR DNA /9 SIRIGRT § PIg gRdd=
&1 BIAT | Holawy I SeTuT 3NTell Wil I demgird =Tel &I |

Vata

Vat

at

V2

V2

7
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=i 31/1

T3 g&

T&ifad S / Hedie fog

22.

(a) f=20cm

$H TR 3 W u=—40 cm @1 v =+40 cm &1 = 2
ag rspy fderar € & 9w amar o= @1erar 2f ) W g, 31iq
2f=40 cm 3@r f=20 cm

(b) 9 W& 6 & UGG FE T T |

e S u=— 15 cm g, a 39 U & ¢a iR = BiHd
@ dra Rera 2| ora: vfafam smardt &k favg o) feem & € g9
=Y | 3 ufafds 0 v A B @12y, R I8l I8
+120 cm <@g T T

(c) f=20cm
PHH AT 2 & foru faRor e : w=—60¢m ; v=+30cm

V2

2

V2

72 5
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=g 31/1
3Tk AT
Vs
1
forzon =t faem Y
b) SUIANT : U Y TUY B WY H/ 31T DIy SUINT Ya
HIROT : {991 &7 AQd AT Yd e gfafe g1 qeI
I &F M BT Ya
aobdl sar = 99 el ®1 ashar B5a1 ST uor $Ig
9Nl & | OO & ¢d 3R ahal o= & dr9
B N | V2
gdor @) ygfa : e /man) Vs
R=2f=24cm; .. f=12cm ) 5
24, | (a) *F of| &1 gpar ¥ gig 8T
o T MeAd &I odars ¥ gfg B
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@re 31/1
I3 HE& Eifad IR / Jedied fog ED B

(b) f=-5cm (GfF 9 sr@add g)

P=L @) m=-3

S
1
P=—— =-02D
-5m

T -
25. d 1 1
26. C 1 1
27. d 1 1
28. b 1 1
29. C 1 1
30. d 1 1
31. d 1 1
32. b 1 1
33. c 1 1

34, | o AT IS /T TAT AIfSTH BeSIRASS 1

. Tt forew &1 el &R a1 B | 1 2

10
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e 31/1
T G fFh Pini
35,
4% % | 2
36. |+ N H W,/ R 7z
. gfafas &1 Al dedT B | v
. yfafew &1 fgar /=a9a gedr Sl 2 | A
« U3 R DIy W Y T8l g9 Dt UBrel
BT IST fe@Ts <l © | A 4

11
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